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Chapter 9 Quiz =)
Part A: Modified True/False 7

Indicate whether each statement is true or false. If false, modify the statement to make the
Statgment true.
e OR epual

GA r;u tral obefct has*memch #nggatlve charge than positive charge.
Positine kracte
F QA peutral object is lppf;lrkd y an object with a posnwepcharge
)

F 3. When a charged object 1s-bfc-rﬂgh{6—zgeaf—wi+he&t touching a neutral object, that

object is given the same charge by cenduction.
(JIIIbL JAdw ST e

/r 4. As the distance between two charged objects increases, the electric force between
them decreases.

Part B: Multiple Choice
Circle the letter beside the answer that best answers the question or completes the
statement.

( QWhich of the following correctly identifies the particle with its electric charge?

Particle Electric Charge
electron negative
(b) proton negative
(c) | neutron negative
(d) neutron positive

. When a negative vinyl strip is brought near a hanging neutral pith ball, the pith ball
will be

(a) repelled by the vinyl strip (b) unaffected by the vinyl strip
(c) attracted to the vinyl strip d) first attracted to the vinyl strip and then
repelled by the vinyl strip

) 7/ Why does an acetate strip rubbed with a paper towel acquire a positive charge?

(a) The acetate strip loses positive charge to the paper towel.
The acetate strip loses negative charge to the paper towel.

(c) The acetate strip gains positive charge from the paper towel.
(d) The acetate strip gains negative charge from the paper towel.

P . ..
( :’8)\5(7]1}7 are neutral dust particles attracted to television screens?

(a) Friction causes a buildup of static electricity on the dust particles.
(b) The television screen is neutral and attracts the neutral dust particles.

The television screen induces a separation of charge in the dust particles.
(d) A static charge is conducted from the television screen to the dust particles.
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Chapter 9 Quiz (continued)
(_9) Which of the following is a good insulator?

(a) iron (b) dry air
(c) copper (d) tap water

1@ The electric force depends on the amount of charge and the distance between the
charges. Which of the following pair of changes will always increase the force?

Amount of Charge on Objects Distance Between Charged Objects
(a) decreases decreases
(b) decreases increases
@ increases decreases
(C) increases increases

(1}) Electrostatic precipitators are used to
@ remove ash particles from smoke
(b) generate sparks to ignite barbecues
(c) encourage rain to fall in desert areas
(d) settle sediments in liquids containing impurities

Part C: Short Answer Questions
Use complete sentences or diagrams to answer each question.

@A negatively charged vinyl rod is brought toward a neutral pith ball. The pith ball is
attracted to the rod and then flies away. Draw diagrams to explain why this occurred.
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13. Complete the diagrams below to show how the leaves of a neutral electroscope shown
in (a) would respond when: (b) a positive rod is brought near, (c) a positive rod touch-

es the metal ball of the electroscope, (d) the rod is removed, (e) the metal ball is
touched by a human finger, and (f) the metal ball is left untouched. Show the charges.

Chapter 9 Quiz (continued)
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( 14 |Describe how you could determine the charge on a charged ob et
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15. You have a negative strip and a neutral aluminum sphere on a stand. Explain how
you could give the aluminum sphere a positive charge.
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Chapter 10 Quiz

Part A: Modified True/False
Indicate whether each statement is true or false. If false, modify the statement to make the

statement true. | . o€
F’ negenvd S ) ) conventional
[ 1) The positive terminal of the cell in the figure is labelled , urent
~ oy » | —
- 2= : 1‘(*-'2;\‘&' ¢ 2 i X1y
- opf™ of o~ movemtnT
F é The arrow shows the)direction of conventional-eurrent.
T 3.The direction of conventional current is opposite to the .
direction of electron flow. &

Part B: Multiple Choice

Circle the letter beside the answer that best answers the question or completes the
statement.

(41 hree cells, each with a voltage of 1.3 V, are connected as

W)
" shown in the circuit diagram. The cells are connected to a =
voltmeter. What is the voltage shown by the voltmeter? l
|
(a) 0.65V (b) 1.3V L o
Q) 2.6V d) 3.9V |3V '.,ll;u
(S) What is the minimum number of cells needed to make a |
6V battery if each cell has an individual rating of 1.5 V? “
(@) 1 (b) 2
© 3 ()4
./G)A current of 24 mA is equivalent to
((@) 0.024 A (b) 0.24 A
() 24A (d) 24 000 A
/7)The circuit shows two light bulbs (L, and L,).
" If the second light bulb (L,) burns out, what
happens to the first light bulb (L,)?
(a) It goes out. 1 Ly L,
(b) It gets dimmer. =, ©) ©)
(c) It becomes brighter.
@ It will stay on without changing its brightness.

—



Nallie. dle.

104

)Select the choice that indicates how a voltmeter and an ammeter are connected with
the resistor.

Chapter 10 Quiz (continued)

Voltmeter Ammeter
(a) in series in series
(b) in series in parallel
@ in parallel in series
(d) in parallel in parallel

( )A student connects a resistor as shown in the circuit in question 8. The ammeter has

a reading of 41 mA and the voltmeter hfs a (;i:admg of 2.6 V. What is the resistance
of the resistor? Q- V. - 2.6V

(2 0.016Q L 004A 1y 0280
() 16Q @639

10) A student replaces the resistor in question 9 with a 22 € resistor. The voltmeter has a
reading of 2.6 V. What is the ammeter readmg

@) 84mA L° }f\ ;_;J; = 0-118Ag) 19 ma
(c) 57 mA @ 120 mA

Part C: Short Answer Questions
Use complete sentences to answer each question.

’ 1/]1 What is the voltage in a 1 k€ resistor having a current of SIE) mA flowing through it?
L7 1000 S2 Y 0-050
N~ 1.0 "‘
- 0.050A 10001 m
( j Three 1.5 V dry cells are conneM;nd hooked up to a single lamp with a

resistance of 30 2. How much current is flowing through the lamp?

T=M= LW To.os‘A{‘ = 5o mA
P73 )
)0.0v

13.A 9V battery is connected to three 30 €2 lamps that are connected in series. Draw a

cireuit diagram. - @)—ii

K(a) \What is the total Ecsrs%&ne f the three Iamps? 7 L """" \
50U = L\‘s ot ‘\: ) %02 "\\

C) }{ow much curren 2\
C)‘iA = 300 s /*; N

C\ What is the Vo(]tage across the first lamp? - 30 5L

N= TR -
= 0.4A- 30k ’m /,

\
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